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Section 6.3

3. 7 x 108 S. 1x 1010 7. 3x 102 9. 4x 106

11.  33x105 13. 1.3x 102 15. 8.3x1010 17.  2.8x10°!
19. 9.13x103 21.  2914x103 23. 56,000,000 25. 203,000
27. 530 29. 0.023 31.  0.000632 33.  0.00000401
35. 85x107 37.  4.53x106 39. 3.09x10! 41. 9.0x104
43. 2.1x103 45. 3.9x10° 47.  3.6x1006 49. 6.9x10°
S1. 1.6 x 107 53. 6.0x105 55. 2.0x1010 57.  2.0x102

59.  The average hummingbird weighs 3.2 x 10-3 kilograms.
61. The total number of gallons of gas consumed was 4.99 x 10,
63.  The U.S. national debt was 8.66 x 1012,

65.  The total amount of money spent on fuel was $2.3517 x 1011,

67.  The giant tortoise can travel 2.304 x 10-1 miles in one hour.

69. 8.1x1013 71.  8.1x10%

Section 6.4

5. x2, 2x 7. -5¢2, -4c, 1 9. x4y, %xy“, -%
11. Trinomial 13. Monomial 15. Binomial

17. Quadrinomial 19. 8 21. 44

23. 1 25. 9 27. 18

29. -9 31. 2 33. O

35. 1 37. 2 39. 3x+4

41.  T7b3 + 4b 43. 4x2 + 5x - 6 45. w* - w2+6
47. 3 - 52 -y + 1 49. 10a3 - 6a2 + 9a - 1 51. 10«3

53. 3p2 + 4p 55. -2n3 57. 13x4 + 1

59. -3 4+ 1312 61. -3 + X2 63. -x2 — 6x

65. 5p5 -7

67. At the 1-second mark, the ball was 1,184 feet above the ground.
69. At the 5-second mark, the ball was 800 feet above the ground.
71. At the 1-second mark, the rock was 314 feet above the ground.
73. At the 3-second mark, the rock was 246 feet above the ground.
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Section 6.5

“4c - 6

3k3 + Tk — k
9 — 6

11

33 + 3y - 9

13.
19.
25.
31.

p? — 6p
3v3 o+ 2 + 1

-11c + 6

v+ 2

b) No. When x is 10, one side is -16, and it is not possible for the side of a rectangle to

3. 7x2 + 5x 5.
9. Sx2 - 4x + 1 11.
15,  3x2 — 2x 17.
21. 2 - 10c - 2 23.
27. 3¢3 -7+ 9 29,
3. 93 —qg+ 1
35. a) P=42+6x-6

be negative.
Section 6.6
3.6 5. 33
11.  10¢* — 30q
15. -10v* + 2012
19. w3 +7w2 + 13w + 6
23, x2 - 9x - 36
27. 12¢2 — 13¢ + 3
31. 2r3 + 7r2 — 10r — 35
35 3 — 64
39. x4 - 103 + 17x2 + 40x + 16
Section 6.7
3. x2 + 12x + 27 5.
9. 6x3 — 3x2 — 12x + 6 11.
15, p2 - 100 17.
2. W -T2 + 12 23.
27.  x2 + 14x + 49 29.
33. 432 + 12x + 9 35.
39. wt - 8w? + 16 41.
45. w2 — 81 47.
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7. 18k6
13.  -n5 -
17. -6y0 + 3y3 — 122

9c4

21, 4x3 —9x2 — 17x - 6
25. g% + 11g + 24

29. 16x* — 9

33. 35— 6y3 — 592 + 30

37.  wA + 4wd — 10w2 — Tw + 6

6x2 — 5x — 25
p? + 15p + 54
10x2 — 23x + 12
3t + Tv2 - 20
c2 + 20c + 100
Ox2 + 42x + 49
o + 103 + 25

y2 — 400

13.
19.
25.
31.
37.
43.
49.

49m? — 14m + 1
x2 - 2x - 8

4x2 — 20x + 25
14x4 + 11x2 - 15
p? + 24p + 144
9c2 — 48c + 64
x2 -4

ox2 — 1
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51 25x2 -1

57. 16— 64

63. w + 5w -5

67. (Gx-1D3Bx+ 1)

73. x + 3

Section 6.8

3. 4x3 S. -5

11. x3 + 3x

17. 2¢2 + 3¢ -1
23. 3y + 2

1
2. m?2+2-,"3

5
3. 42 +2y-1-3"7

35. 4x -5

39. 2m2 -m+5-7,535

53.

59.
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4
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5x—35
47. 32 + 2+ 1 +57°7
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36y2 — 49
25x8 — 4

Bm - 10)Bm + 10)

x + 7

4x3 - 3

a2 + 3a -7
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5x4

55. x*-16
61. x -9 +9

71. x — 11

9. -5x3
15.  7d3 + cd? + 5¢2d

7
21. y+5—yT5
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